77 v KFR 1R FR

BRAWR . K¥EFEI 7y T PGAYZ7kyal—RFEEARS & BN xR BN
BREEE D K EFE/77 AFRaI-—X SR 175 SiB: 175 ) -
+ — K : 5896yards,Par72 B FEE E\m:
S| 12 : 2023F1289R8 (1) FE: 2m LR 2m PWA
SMAE : 62% N
(2B B ) [7 B DER] NEHFEA BAZT O TL7HE
(out JEfiE EF4 Fi#p = AGAPar o - 1R FR  (OUT IN )
1 BA Sih 7Y — -3= 69 ( 36 33) 1 eI P S 54 kEGCH—T >~ 0144 = 74 70 ( 34 36)
2T R 7Y — 2= 70 ( 36 34) 2 ARBH— 51 71— +1145= 72 73 ( 36 37)
& fek tBEGH T 2= 70 (34 36) |3T AKX Bk 68 71— +2 146 = 77 69 ( 36 33)
AT 8%k = X/ 1= 71 ( 34 37) INEFE B +2 146 = 73 73 ( 35 38)
G-<A¥— )| = 1= 71 (37 34) |57 &L BEE 61 7E/NHD +3147= 71 76 ( 39 37)
6 ME B Ao n—7 0= 72 ( 37 35) BEH H#o 63 1=Fv IR +3 147 = 72 75 ( 38 37)
T ABRSR— 7Y — +1 = 73 (36 37) |77 /LW = 53 71— +4148 = 75 73 ( 36 37)
ZINTITS I 7Y — +1 = 73 ( 36 37) BLR Rtk 57 7E/NHD +4 148 = 73 75 ( 37 38)
NEFE B +1 = 73 ( 35 38) ;AR = 57 X/ +4 148 = 77 71 ( 34 37)
10T Bk #— 77— +2 = 74 ( 38 36) EK S E— 60 71— +4 148 = 74 74 ( 38 36)
k& EHiL BEGC +2 = 74 (36 38) [11T #E = 51 71— +5 149 = 79 70 ( 36 34)
12T #BR f#%h T E/NHD +3 = 75 ( 37 38) WE B— 58 XX/ N—7 +5 149 = 77 72 ( 37 35)
BE D AZFv IR +3 = 75 ( 38 37) 13 G-vA4v— 62 F)IFgs +6 150 = 79 71 ( 37 34)
A TSUBURAYA FIELDS 43 = 75 ( 40 35) 14 k& FE 65 IBEGC +7 151 = 77 74 ( 36 38)
EH = REDE +3 = 75 ( 38 37) 15 B A 66 TSUBURAYA FIELDS  +8 152 = 77 75 ( 40 35)
16 L ®HE T E/NHD +4 = 76 (39 37) |16T #H HA 50 /NEERC C +9 153 = 73 80 ( 39 41)
17T =8 X 74 -I—+-ITRIR +5 = 77 ( 38 39) B EBX 52 7 +T—+-IAIR +9 153 = 76 77 ( 38 39)
nE o Ft EEZF—ViREGE +5 = 77 ( 36 41) |18T #E = 69 EEZR—ViREHS  +11 155 = 76 79 ( 40 39)
FE S TS| +5 = 77 ( 37 40) BERER 74 BHBRFGC +11 155 = 76 79 ( 39 40)
R +5 = 77 (39 38) |20 ju@E FHi 64 EEZR—VIREHS  +12 156 = 79 77 ( 36 41)
21T tRE % EEXR—ViEEGE +7 = 79 (40 39) |21 FE Gl 64 TSI +13 157 = 80 77 ( 37 40)
] 77— +7 = 79 ( 39 40) |22T %@ = 68 RENE +14 158 = 83 75 ( 38 37)
BERER HIRFGC +7 = 79 ( 39 40) WA ERE 72 #WiBC C +14 158 = 76 82 ( 40 42)
24 A BA NHEERC C +8 = 80 (39 41) |24 EB BX 73 vFan +15 159 = 78 81 ( 41 40)
25 EiB B Fan +9 = 81 (41 40) |25 B & 74 7 — +22 166 = 84 82 ( 40 42)
26T LA ERE W5 CC +10 = 82 ( 40 42) |26 N & 737YU— +23 167 = 88 79 ( 39 40)
BE # 71— +10 = 82 (40 42) |27 P & 66 | POC +26 170 = 84 86 ( 42 44)
28T K B FilLED L 74| +11 = 83 ( 43 40) |28 HE =& +28 172 = 88 84 ( 43 41)
hE BEA +11 = 83 ( 40 43) |29 Al E 75 FlED L 7 +29 173 = 90 83 ( 43 40)
30T BE X£F +12 84 ( 43 41)
Il RE +12 84 ( 41 43)
32T J| & lPOC +14 86 ( 42 44) BRERBEES
ROy b Ny T - +14 86 ( 42 44) X ZRADHZBE REAK
4T =& BEA +15 87 (42 45) v ZTRE-—
o EA 18 +15 87 ( 46 41)
- /O BE +15 87 ( 44 43)
37 - \BF =E +17 89 ( 43 46) fEE
38T 1] 5 +20 92 ( 47 45) (Etg) HRR m# FRX&— 8l GHATROA
- Bk BT +20 92 ( 51 41)
40 - @B =TFTR +22 94 (45 49)
41 - e RA +24 96 ( 47 49)
42T )l HER +25 97 ( 53 44)
R +25 97 ( 49 48)
44 - B EF +26 98 ( 46 52)
45T - &l 3KER +27 99 ( 51 48)
BT EF +27 99 ( 48 51)
~ JER BBA +27 99 ( 51 48)
48T - F{FHF & +30 102 ( 51 51)
- EE R +30 102 ( 50 52)
50T - 8 & +31 103 ( 51 52)
- s HET +31 103 ( 49 54)
RPN +31 103 ( 52 51)
- FE BEAR +31 103 ( 53 50)
54 - WA EB +33 105 ( 49 56)
55T - H FE +34 106 ( 50 56)
il B +34 106 ( 52 54)
A BE +34 106 ( 54 52)
58T - /\F§ BT +35 107 ( 55 52)
R <1 P +35 107 ( 52 55)
60 - H HD +38 110 ( 62 48)
61 - W H= +41 113 ( 56 57)
62 - A E— +42 114 ( 56 58)




